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QUESTION:  84 
Which three hybrid connectors allow Cisco Spark to be integrated with an on-premises 
solution? (Choose three.) 

A. Calendar Connector 
B. Call Connector 
C. Calendar Aware 
D. Directory Connect 
E. Directory Service 
F. Calendar Service  

Answer: A, B, D 

QUESTION:  85 
Which two options are call-control devices in a Cisco Collaboration environment? 
(Choose two) 

A. Cisco Unified Communications Manager 
B. Cisco Telepresence Endpoint 
C. Cisco Meeting Server 
D. Cisco Expressway 
E. Cisco Content Server  

Answer: A, D 

QUESTION:  86 
Which Cisco WebEx products can support calls from end points and WebEx clients? 



A. Cisco WebEx Meeting Center 
B. Cisco WebEx Training Center 
C. Cisco WebEx Support Center 
D. Cisco WebEx Event Center  
 
 
Answer: A 
 
 
QUESTION:  87 
Which two primary protocols does TMS use to communicate with endpoints and 
infrastructure? (Choose two.) 
 
 
A. BFCD 
B. SIP 
C. HTTPS  
D. H.323 
E. SNMP  
 
 
Answer: C, E 
 
 
QUESTION:  88 
Which two methods can be used in TMSto schedule conferences? (Choose two.) 
 
 
A. Administrative Tools > Configuration > Conference Settings 
B. Booking > New Conference 
C. Scheduling > New Conference 
D. Reporting > Conferences 
E. Monitoring > Conference Control Center  
 
 
Answer: A, B 
 
 
QUESTION:  89 
Which two statements about the assignment of endpoints to a subzone are true? (Choose 
two.) 
 
 
A. A registration restriction rule must be configured that matches the endpoint's alias or 



IP subnet. 
B. Endpoints making a traversal call must be registered to the traversal subzone. 
C. By default, all endpoints are registered to the default subzone. 
D. By default, all endpoints are registered to the neighbor subzone. 
E. A subzone membership rule must be configured that matches the endpoint's alias or 
IP subnet.  
 
 
Answer: C, E 
 
 
QUESTION:  90 
Cisco Meeting Server has several components that can be enabled to expand the 
functionality of the server. Which component is used for interworking between different 
communication protocols? 
 
 
A. web bridge 
B. load balancer 
C. TURN server 
D. H.323 gateway 
E. SIP edge 
F. call bridge 
G. XMPP 
 
 
Answer: D  
 
 
QUESTION:  91 
Which configuration on the Expressway is needed for a SIP end point to register? 
 
 
A. active neighbor zone between the end point and the Expressway 
B. SIP authentication enabled 
C. Registration restriction policy in Allow mode 
D. SIPdomain  
 
 
Answer: D 
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